[image: image1.wmf]0

2

10

2

=

-

+

u

u

[image: image26.wmf]232

1)617102)4242

xxxxx

+++-


Factor Completely:
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Solve for x:
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Write the equation of the line in slope-intercept form:

6)  slope – 3, containing point ( 4, 2 )                                7)  contains points ( 3 , - 6) & ( - 7, 2 )

8)  perpendicular to the line in problem #6, containing point ( 3, 4 )

	9)  Solve the system      
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Simplify:
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Use operations on radicals. Simplify your final answer.

[image: image31.wmf]5

3


Find (a) the distance between each pair of points and (b) the midpoint of the line segment joining the points.

	13)  (2,2) and 
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State the domain and range.
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16)  Evaluate each function given:
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B)   
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Solve the system by graphing.
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Graph each quadratic equation.  Find the zeros.  Find the vertex, zeros, y-intercept, and the axis of symmetry
18)  y = (x – 3)2 – 4




19)  y = - x2 + 4x – 2
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Simplify.
20)
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Simplify.
21)   
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Simplify.

22)

[image: image11.wmf]37

250

a




23)
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24)
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29)  
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30)  
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Solve using the quadratic formula.

	31)  
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32) Simplify:
 (2x2 – 3x – 5)( –5 + 4x – x2)
33) Find all real solutions of the equation.
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34) Solve the inequality then graph on a number line.
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The following triangles are 30-60-90 degree triangles.  Find x and y for each. 
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The following triangles are 45-45-90 degree triangles.  Find x and y for each.      (6 points)
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Find the indicated side or angle measurement.  Round decimals to the nearest hundredth.
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42)  BC  


43) m(T 




44)  ML

45)  TQ



46)  IK




47)  m(Q

Answer Key:

1) (6x + 5)(x + 2)

2) 2x(2x + 7)(x – 3)

3) -6/5, 2
4) 5

5) 5

6) y = -3x + 14

7) 
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9) (-11/2, -6)

10) 2 + i

11) -22 – 34i

12) 
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Honors Precalculus Summer Assignment 2016


All answers must be supported by showing the work!
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22) � EMBED Equation.3  ���


23) � EMBED Equation.3  ���


24) � EMBED Equation.3  ���


25) 3


26) 25


27) 8


28) 64


29) 4


30) 7


31) � EMBED Equation.3  ���





32) -2x4 + 11x3 – 17x2 – 5x + 25


33) 6/5 or -66/5


34) -15 ≤ x < -3


35) x = ½, � EMBED Equation.3  ���


36)� EMBED Equation.3  ���, y = 6


37) x = 5, y = 10


38) � EMBED Equation.3  ���


        � EMBED Equation.3  ���


39) x = 3, y = 3


40) � EMBED Equation.3  ���


        � EMBED Equation.3  ���


41) � EMBED Equation.3  ���


        � EMBED Equation.3  ���


42) � EMBED Equation.3  ���


43) 36.03(


44) 6.57


45) 19.43


46) 19.56


47) 55.15(











13) a. 13/3   b.  (7/6, 0)


14) D:  All real numbers


       R:  All Real Numbers


15) D: (-∞, -2)([1, ∞)


       R: (-∞, 5]


16) a. -5     b. � EMBED Equation.3  ���


17) no solution


18) vertex: (3, -4)


       Zeros: (1, 0), (5, 0)


       Axis symm: x = 3


       y-int: (0, 5)


19) vertex: (2, 2)


       Zeros: (� EMBED Equation.3  ���, 0), (� EMBED Equation.3  ���, 0)


       Axis symm: x = 2


       y-int: (0, -2)


20) � EMBED Equation.3  ���


21) 3x + 2
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